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QUESTION 1

Which port is used by a transport node to communicate with NSX Manager in NSX-T Data Center 2.4? 

A. 5671 

B. 1234 

C. 1235 

D. 5678 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.4/nsxt_24_install.pdf 

 

QUESTION 2

Which statement Is true regarding the audit user account? (Choose two.) 

A. The admin user must set the password for the audit account to log in to NSX Manager. 

B. The administrator must run the set audit user password command. 

C. The audit user has read-write access to the NSX Manager. 

D. The audit user is disabled by default and must be enabled to log in to the NSX Manager. 

E. The administrator must run the set user audit password command. 

Correct Answer: AD 

 

 

QUESTION 3

Refer to the exhibit. 
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A vSphere administrator is trying to connect T1-Web-01 virtual machine to a NSX-T logical switch and is receiving an
error. 

Which service must be restarted to connect the virtual machine to a NSX-T logical switch? 

A. /etc/init.d/nsx-opsagent start 

B. /etc/init.d/nsx-proxy start 

C. /etc/init.d/nsxa start 

D. /etc/init.d/nsx-datapath start 

Correct Answer: A 

 

 

QUESTION 4

An NSX administrator has configured a KVM hypervisor as a transport node. Which kemel module on KVM implements
a N VDS? 

A. dvswitch 

B. nsx-vswitch 

C. openvswitch 

D. etherswitch 

Correct Answer: C 

Reference: http://virtualbrigade.com/n-vds/ 

 

QUESTION 5

Which two tools are used to configure centralized logging in NSX-T Data Center? (Choose two.) 

A. vRealize Network Insight 

B. vRealize Automation 

C. vRealize Log Insight 

D. Syslog Server 

E. vRealize Operations 

Correct Answer: CD 
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